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PREC 11 1.3 Geometric Sequences

Look at the following sequences:

' . &
1. 2,10,50,250, ... MuH-’.Plj bd 5 _. Net ardhme LC
2 3,-12,48,-192, ... YY\O\“"\P‘:, bj -d 2. Not a('l‘('hme‘\:lcf

Each successive term is found by multiplying by a constant. This constant is called the
common Va0 A sequence where each term is obtained by multiplying the
preceding term by a constant is called a 4€omeEtvic S€quence

Example 1: Find the common ratio »:
u
l To find
a) 12,6,3,15, ... =1/ .05 dde o term
b) -2.6,-18, 54, ... r=-3 loj “ha ?rev\m)s
¢) a,ax,ax’,ax’,.. = one .
DL
2 2
Example 2:  For 6, 12, 24, ..., determine:
a. f t‘.: o b. 1 t‘ = b
ty='"2= b :
- el n=\
‘t 3 QY (3 Q.XD. —t'\: 6,2

tul: 3 = b x *xaxx
- G2

o
[N

.
.

'L\o: G"ZL“ = 3071
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The general term of a geometric sequence is given by: _
n=\
ths t,xr )

Example 3: Consider 3, 6, 12, 24, ...

a. Determine ¢,,. 't,\= +, _rr\-l
ti= 3 q-1)
tu= 3xat
tu=7?7 " 2
n= 14 = 3x'%
r= 2 = ay57b
b.  Which term is 384? Nove

+.= 384 the £, 2" (Q’—.l’l%)
f\:? 38'—‘: Z)/XD:
t,= 3 -4
r=2 12 = 9"

te = 384

Example 4: The terms placed between two non-consecutive terms of a geometric sequence are

1
called geometric means. Insert 4 geometric means between 81 and —.

{ { 729
} 4 ! 5 ®m o
\)\_/‘\/x/\_f
B/ SR A L
129 ¢I
o [
Sﬂoq
"s'a

MAYBE I'LL SAY THAT
AT THE BOARD MEETING
TO SOUND SMART.

.
]

UNLESS ITS A LEAP
YEAR; THEN YOU HAVE
TWO QUARTERS PLUS
A PENNY.

_cale . 1 roaraou} :%das
MANY
‘ 590 H‘\A (l/q) ARE IN A YEAR.
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Example 5: In a geometric sequence £, =5 and 7, =1280.

d.

'ts’- t. s

Determine ¢, and ¢,.

-t’r‘-tl'( -tb‘

= +,-r*"
1250 = 5. = 5-(4) = 5-(4)
2a5b = r4 =ad = 5120
4 = r
b.

The last term of the sequence is 20480. How many terms are in this
- n=\

_ sequence? tn=t,-V
t 1= 5

-1
20480 =5 (1)" 1=n
=204 -
tf‘— ) ?O I-[O‘Ib - Hr\ |
::q 4o - ‘1“" There are 1 terms .
b=rnet t4= 204%0
Example 6:

Three consecutive terms of a geometric sequence are x+3,x,and x—35
Determine the value of x and the three terms.

Tf\f
ry [ ¥
(#8S X o TS (xt2D
2
o = (-5)(XNB)
x? = (x(s-)\l(x-tab
z{ W
= 2% +3x =615
-x< £
0= -ax-\5 3 ,x,x~-5
ax = -15 < ‘1543.-1.5,’7-5’5
x = =S5 ©f -1.9

[:.-4.5,-75-125

Assignment: pg. 39 #1-6, 9, 10, K’ 13123
a
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